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Question Number : 1 Question Id : 973597671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is referred to as the “Earliest Super Computer™?

Options:

1 #% Mira

> % Vulcan

3 « UNIVAC LARC
4 % PARAM

Question Number : 1 Question Id : 973597671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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> % doche]
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Question Number : 2 Question Id : 973597672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following performs arithmetic and bitwise operations on numbers?

Options:
, % Memory Unit (MU)

-  Arithmetic Logic Unit (ALU)

5 % Address Computation Unit (ACU)

4 % Control Unit (CU)

Question Number : 2 Question Id : 973597672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| FEN I (MU)

i TR Fifers If=e (ALU)
. » U39 FI&A JfAT (ACU)

, » e F=E (CU)



Question Number : 3 Question Id : 973597673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following terms is used in describing CPU’s speed?

Options:
1 # Error Correction

-~ % Form Factor
= # DBaud Rate
4  Clock Cycle

Question Number : 3 Question Id : 973597673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 4 Question Id : 973597674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The abbreviation SCSI stands for:
Options:

, w Small Computer Screen Interface

> % Small Computer Server Interface

= % Small Computer Scalable Interface

4  Small Computer System Interface

Question Number : 4 Question Id : 973597674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 973597675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a type of Touchscreen technology?

Options:

, w Capacitive Touchscreen

> % Resistive Touchscreen
3 « Acoustic Sonar

4 » Optical Imaging

Question Number : 5 Question Id : 973597675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 6 Question Id : 973597676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following Biometric methods is NOT a part of India’s National ID Program. AADHAAR?
Options:
, # Retina /Iris Scanning

> « DNA Mapping
5 » Fingerprint Scanning
, w Facial Photograph

Question Number : 6 Question Id : 973597676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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> « DNA #fRyer
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Question Number : 7 Question Id : 973597677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following File Systems is used by Blu-Ray disks?

Options:
1 % FAT

> % NTFS
s % FAT32
4 « UDF

Question Number : 7 Question Id : 973597677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=1 e anr Tlef@a 7 8 #ia & wsa s & g3 G amar 82

Options:

. % FAT
> % NTFS
s » FAT32
. v UDF

Question Number : 8 Question Id : 973597678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is true about a Flatbed Plotter?

Options:
, + Itworks by using an arm that moves a Pen over Paper

> % It works by using an arm that moves Paper under a Pen

5 » It works by using an arm that moves Paper under a Print Nozzle

4 » Itworks by using an arm that moves a Print Cartridge over Paper

Question Number : 8 Question Id : 973597678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 9 Question Id : 973597679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
In Smart Card terminologies, SIM refers to:

Options:
, w Subscriber Identity Mapping

o « Subscriber Identity Module
5 » Subscriber Identity Mechanism

4 % Subscriber Identity Manifest

Question Number : 9 Question Id : 973597679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 10 Question Id : 973597680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The configuration of a computer hardware to operate at a faster rate than was certified by the eriginal manufacturer is

nown as:

Options:

; % Clock Cycles
> % Clock Rate

- % Under Clocking

4  Overclocking

Question Number : 10 Question Id : 973597680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 11 Question Id : 973597681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Washing Programs in a washing machine can be categorized under

Options:
1 % DBloat ware

> % BIOS
3 « Firmware
4 % Malware

Question Number : 11 Question Id : 973597681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
| % solle IW

Question Number : 12 Question Id : 973597682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In operating system terminologies. the term API is a short for:

Options:
1 Application Programming Interface

» % Application Path Interchange

o u Artificial Programming Interface

4 » Arithmetic Programming Interface

Question Number : 12 Question Id : 973597682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 13 Question Id : 973597683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To clear the terminal screen in Linux, which of the following commands is used?

Options:
1 « Clear

- # clearScreen
3 % clrser

4 % clean

Question Number : 13 Question Id : 973597683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 « clear

> % clearScreen
= % clrscr

4 ®% Clean

Question Number : 14 Question Id : 973597684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
C. BASIC, COBOL and Java are examples of language.

Options:
1 % Low-level

> % Middle-level
5 w Assembly
4  High-level

Question Number : 14 Question Id : 973597684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| ® w-eEe

R CECECCL]
z ® 3-1'@3?3‘

4. ETS-eIe

Question Number : 15 Question Id : 973597685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

To open the Window Menu to use Restore, Minimize or Maximize commands, which of the following keyboard
shortcuts is used?

Options:
; ® CTRL+ALT +DEL

> % CTRL+FI1
5  ALT + Spacebar
4 % ALT+F4

Question Number : 15 Question Id : 973597685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

;. CTRL + ALT + DEL
> # CTRL + F1

= w ALT + Spacebar

4 # ALT + F4

Question Number : 16 Question Id : 973597686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For real time video chats and webcasting which of the following devices is used?

Options:
1 # Video Jack

> % Video Mixer
- % Graphics Card

4 « Webcam

Question Number : 16 Question Id : 973597686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 17 Question Id : 973597687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following network diagnostic commands displays the network settings of a computer?
Options:
1 % telnet

o « ipconfig
5 % tracert
4 % nslookup

Question Number : 17 Question Id : 973597687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 = telnet

-  ipconfig

= # tracert

4 % nhslookup

Question Number : 18 Question Id : 973597688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The act of making a computer program ready for execution by copying and registering its files and/or plugins is
commonly known as:

Options:
1 % Activation

- u Registration
= « Installation
4 % Debugging

Question Number : 18 Question Id : 973597688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1% vTaedere
= n rEear
B.JWH
4 % Fraferer

Question Number : 19 Question Id : 973597689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



A type of webeam specially emploved for suwrveillance and winch can send and receive data via a computer network and
the mrernef is known as:

Options:

1 # Docucam

> % QuickCam
- u iSight

4 « Netcam

Question Number : 19 Question Id : 973597689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 20 Question Id : 973597690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Software that aims to gather information about a person or organization without their knowledge is referred to as:

Options:
1 Spyware

> % Dialers
= % Fraudtools

4 % Worm

Question Number : 20 Question Id : 973597690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 973597691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is generally NOT classified as a Spyware?

Options:
1 #% Adware

» » Iracking Cookies
3 o Virus

4 % [lrojans

Question Number : 21 Question Id : 973597691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 22 Question Id : 973597692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In UNIX system. the essential information about users is stored under the file
Options:

1 #% /etc/users

> % fetc/root
= # /etc/home

4  letc/passwd

Question Number : 22 Question Id : 973597692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 & letclusers

- % fetc/root
= # fetc/lhome
4  letc/passwd

Question Number : 23 Question Id : 973597693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

The file extension. TIFF is a short for:
Options:

, w Iransmission Image File Format
- » [Iransformed Image File Format
-  lagged Image File Format

4 % TimedImage File Format

Question Number : 23 Question Id : 973597693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1: TR 3 FIEe BlAC
, » CTHBFE 3AS HISA HHS
. » I8 SHS WEA BIHC

, « TBH FHST BIEA BIHC

Question Number : 24 Question Id : 973597694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows O.S. to select all files inside a folder. which of the following shortcuts would be used?

Options:

{ v CTRL+A
& % CTRL +Z
3 # CTRL+Y
4 % CIRL+F

Question Number : 24 Question Id : 973597694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

.« CTRL + A
, # CTRL + Z
2% CTRL+Y
. % CTRL + F

Question Number : 25 Question Id : 973597695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
In computers. an operation that returns the database to its previous state is known as:

Options:
1 % Reset

> % Undo
= « Rollback
4 % Commit

Question Number : 25 Question Id : 973597695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FeUeT H, Tk A FT SEET H 3T 3 TuT F witer a1 &, 39 F Fad 87
Options:
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Question Number : 26 Question Id : 973597696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Library of official technical documentation, MSDN is short form of:

Options:
, « Microsoft Developer Network

> % Microsoft Designers Network
= % Microsoft Database Network

4 % Microsoft Discovery Network

Question Number : 26 Question Id : 973597696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
el HTF fFaer sTFgRey=, MSDN e waymer &7

Options:
Y Lr LY L
| v FTSHEE STANR HTH

, « FAEFETE FEEaT e
. x FSFETE TEH Acaw

wr LY L
, « FTSHIETE EERall T

Question Number : 27 Question Id : 973597697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
In Windows O.S. in case of a system failure, the operating system can be restored to its previous state known as:

Options:
1 # Resume Point

> % Revert Point
= % Reset Point
4 « Restore Point

Question Number : 27 Question Id : 973597697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 28 Question Id : 973597698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
By default. a document is printed in mode.

Options:
, w Landscape

> « Portrait

5 % PageSetup

4 % Print View

Question Number : 28 Question Id : 973597698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 29 Question Id : 973597699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A red wavy line under a word indicates that the word

Options:
, w 1stoo long for the line of text

o 18 not in the dictionary file and therefore might be spelt incorrectly
- % 18 not appropriate for that particular sentence

4 % 1isaverb

Question Number : 29 Question Id : 973597699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T g & = FEER I T Fr @ 2 § 5 17 e
Options:

|« TS & S % e Fr o ¥

. » TCHN FT FEA H FTET ¢ A ST SHPT T TS & Fehell ¢l
_ 39 [ aT & forw sagwd @

4 ® ERIR

Question Number : 30 Question Id : 973597700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The quickest and easiest way m word, to locate a particular word or phrase m a document is to use command.

Options:

, » Replace

> « Find

- w Lookup

4 % Search

Question Number : 30 Question Id : 973597700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

» Replace

1
> « Find
5 % Lookup

4 % Search



Question Number : 31 Question Id : 973597701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which application 1s commonly used to prepare a presentation /slide show?
Options:
, w Photoshop

o  Power point
5 # Outlook Express

4 w» Internet explorer

Question Number : 31 Question Id : 973597701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 32 Question Id : 973597702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which type of file is created by word processing programs?
Options:

1 # Database file

-, % Storage file

= % Worksheet file
4 + Document file

Question Number : 32 Question Id : 973597702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 33 Question Id : 973597703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following documents is NOT a part of bulk mailing using Mail Merge utility?
Options:

1 # Labels

> w Envelopes

= % Letters

4  Dictionary

Question Number : 33 Question Id : 973597703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1_&43@‘?\‘7
o % TedelcH

z ® ﬁ?ﬁ
4 v BEREd

Question Number : 34 Question Id : 973597704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The maximum number of lines a letter can be dropped using a Drop Cap is:

Options:
1. % 35

2.« 10
z ® 15
EE 20

Question Number : 34 Question Id : 973597704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 % 5

> « 10
2 % 15
4 % 20




Question Number : 35 Question Id : 973597705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For creating a document. you use command at file menu.

Options:

; = Open
> % Close
= o New
4 % Save

Question Number : 35 Question Id : 973597705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = Open

> % Close
=z « New
4 % Save

Question Number : 36 Question Id : 973597706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To create a Subscript which of the following shortcuts is used?

Options:
; ® CTRL +SHIFT +C

> % CTRL+U
3 ¢ CTRL +=
4 % CTRL+<

Question Number : 36 Question Id : 973597706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % CTRL + SHIFT + C
, » CTRL + U

- « CTRL
. % CTRL

4
11

+
fal

Question Number : 37 Question Id : 973597707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following options is FALSE about Headers & Footers?
Options:
, w Fields like Author. Subject. Title etc. can be inserted in Headers and Footers

- u First page of the document can have a unique Header and Footer

5  Odd and Even pages cannot have different Headers and Footers

4 % Picture can be inserted in Headers and Footers

Question Number : 37 Question Id : 973597707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g 3R X & I) # fa=of@a 7 ¢ #i9 ¥ BT o 82

Options:

| € IR T A PR, T, TRed e AW fies I ST wwA B
o % SIFIHE F TEe I56 H Y =T 3N %o @ whar B
s_wﬁmﬁﬁmw*%@?ﬁ?wm-maﬁﬁml

P 2= 3R $eX # aFEN EET AT T g

Question Number : 38 Question Id : 973597708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To write Chemical Formula of Water H>O which of the following features must be used?

Options:
1 % Font Size

» % Drop Cap

5 ® Superscript
4  Subscript

Question Number : 38 Question Id : 973597708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
9T F TEEE g9 H0 fowe & v eafafaa & @ fraer s ar s anfge?

Options:

| % DleC WSS

, ® 59 s )
g &

T ® 29

4 v HETERTE



Question Number : 39 Question Id : 973597709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To print a document, press then press Enter.
Options:

1 % Shift +P

> « Cil+P

3 % Alt+P

4 % Esc+P

Question Number : 39 Question Id : 973597709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e Sie @ Rie aw ¥ R ZaTe R TeT
Options:

1 % Shift + P

> Ctrl + P

2 % Alt + P

4 % Esc + P

Question Number : 40 Question Id : 973597710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To increase font size which of the following shortcuts is used?

Options:

; % CTRL+]J
> % CTRL+R
5 @ CTRL +]
4 ® CTRL+=

Question Number : 40 Question Id : 973597710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Bied HISS F2 & v, Arafaf@a # ¥ &y ofeee & staATe &Far JEr 82

Options:

, ®« CTRL + J
, « CTRL + R
. v CTRL +]
4% CTRL + =

Question Number : 41 Question Id : 973597711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A bank customer availing 8 Housing Loan needs to find out various Interest Amounts under the Floating Interest Rate
Plan. Which of the following wonld be the best way to do it?

Options:
1 % Subtotal

% Pivot Table

% Ewaluate Formula

.

« Goal Seek

Question Number : 41 Question Id : 973597711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HIETHE HUT o ST deh & WES o FEUET =0T 27 TTAAT & ARS 4TS & [ST8es T3 & 9AT FnAr
7 TRy 7 ¥ w9 5 = a=or O g

Options:

1% R ECIEE

- » T4l o
USegue GBI

= ® L% &

4 v T HF

Question Number : 42 Question Id : 973597712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A worksheet contains Employee data spanning several rows and columns. What effective method should be
implemented so that the Row and Column Headers remain visible all the time while scrolling?

Options:
1 & Freeze Panes

- u PageBreak Preview
5 % Margins

4 % Page Setup

Question Number : 42 Question Id : 973597712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T TRE F wE IEaar (rows) AT T8 (columns) & SEETTET & = B e werEr o=
FRiFa T a1 WiEe A1 = 9 & 20 57 OAY 999 39T TEN F I TeE iE e

Options:

1.#"‘%’?'3}?“
E_QﬁHW'ﬂ?{
5 % AS=H

4 % 9 HeHT



Question Number : 43 Question Id : 973597713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an Excel Template file extension?

Options:
, % PPSX

> % .ASPX
5 % XSLT
i XITX

Question Number : 43 Question Id : 973597713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TFH TFoIE BISd TaHH eeataiad H & &I a1 87

Options:

| % PPSX
., » .ASPX
5 ® XSLT
gt XLTX

Question Number : 44 Question Id : 973597714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The EXCEL function =LEN(*"Hello ) returns:

Options:
, % Whether the Language of the text is English

- % The length of a string ignoring spaces
-  The length of a string including spaces

4, % Whether the text is a part of Latin Encyclopedia

Question Number : 44 Question Id : 973597714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TFH FF = LEN(“Hello ?) &7 9f{oms Far 3T0em?
Options:

| % T TFEC FT AT ST B

i ﬁﬁmaﬁmmgﬁéﬂﬁﬁa@

. » oa v @i e & s

, » FOT 9IS AfeT RreTiy (TAEEFATNTEAT) F AT 2



Question Number : 45 Question Id : 973597715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Excel, which of the following kevboard shortcuts is used to jumyp from the first row to the last row and vice-versa?

Options:
;, % CTRL + Right Arrow, CTRL + Left Arrow

5 of CTRL + Down Amrow, CTRL + Up Arrow

5 » CTRL ~PgUp, CTRL ~PgDn

¢ 8 (CTRL 43 CTRL 4%

Question Number : 45 Question Id : 973597715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THIE A T dET R e A T s Al A s RAr R A e s
FEE icFey FT T=AT =T FET 27

Options:

, = CTRL + Right Arrow, CTRL + Left Arrow
- « CTRL + Down Arrow, CTRL + Up Arrow
- » CTRL + PgUp, CTRL + PgDn

4 CTIRL + > CTRL + <

Question Number : 46 Question Id : 973597716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following combinations is used to hide the currently active row?

Options:
; % CTRL+1

> % CTRL+8
2 % CTRL+0
4« CTRL+9

Question Number : 46 Question Id : 973597716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Rt T s T O s s s R e s s s R R I

Options:

, » CTRL
» % CTRL
2 » CTRL
4« CTRL #

+ 4

+
O O 00 =

Question Number : 47 Question Id : 973597717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following is used in order to combine values from multiple ranges into one new range?

Options:

1 % Text to Columns
> # Filter

= « Consolidate

4 % Group

Question Number : 47 Question Id : 973597717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
s & o o 999 A 19 & o4 ¥ UF = 19 # s &4 & 7 FoamEr 2

Options:
CFEC T FITFH

1 %

o R iEF:chI
- v FeAIfoRT

4 ® 2

Question Number : 48 Question Id : 973597718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following operators 1s used to concatenate / join values from multiple cells?

Options:
1 &
> B =
= W =

4 ® T

Question Number : 48 Question Id : 973597718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HAeeId Ued & Sv4H S Fesdae/aaied &l F W0 FeAaias § ¥ TR dves 7 s ma
ST §2
Options:

1.« &
- B >

= B <
4 ® +

Question Number : 49 Question Id : 973597719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Considering the date format as “dd/mm/yyyy", the Excel expression =DATEDIF("11/5/1984", "5/11/2016", "Y")
would refurn:



Options:
1 % #Num!

Question Number : 49 Question Id : 973597719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
"dd/mmlyyyy" TeT § & &1 o= § @9 8T, TFder TFEdere, =DATEDIF("11/5/1984",

"5/11/2016", "Y") & IRUMH FIT grem?

Options:
1 % HNum!

> o 32
3 % 0
. = 11694

Question Number : 50 Question Id : 973597720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
i3 a network protocol that provides file access, file management and file transfer over any reliable data stream

Options:

1 % FTP
> o SFTP
= % SMTP
4 ® HTTP

Question Number : 50 Question Id : 973597720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TE HEUw Worwe £ o G fremoew 3T BOW 9T O oMW, TIEW Anwdc it e
TERT T GiauT 98 FLar £
Options:

, = FTP
> v SFTP
s % SMTP
4, % HTTP

Question Number : 51 Question Id : 973597721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A website where people with similar interests communicate with each ofher. nsually by chat or message boards is
known as

Options:



, w Corporate Website

» » Crowdfunding Website

5 u Celebrity Website

4  Community Website

Question Number : 51 Question Id : 973597721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T UHT I9HST ¢ @7 HTHGR W THh AdT = Jrer oer 39\
F e 7 39T §F F AaH ¥ a99a =14 8
Options:

| » PREUNC ITHETFE
, « FI3SHIST IFHEE
. » T IS
, o FEAEC AT

Question Number : 52 Question Id : 973597722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following protocols i1s made use of in Video Conferencing?

Options:
|  VOIP

> % UDP
- % POP
4 % BGP

Question Number : 52 Question Id : 973597722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Iz TR F Fafaf@a # @ g 9w F1 gAter &Far JEr 82

Options:

. v VOIP
, » UDP
. = POP
., = BGP
EEADIMNG COMPREEHERSIOCMN
Section Id : 973597104

Section Number : 2



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 973597104
Question Shuffling Allowed : Yes

Question Id : 973597723 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension



Read the following passage and answer the questions given after
it.

Navroze. the Parsi New Year Day is celebrated by the Parsis every
year on 21st of March. All Parsis join the festivities and enjoy
themselves. We do not know how the festival originated but history
shows that it was first celebrated as early as 6th Century BC when
Cyrus and Darius ruled over the Persian Empire. Firdausi. the great
Persian poet. however. says in his “Shahnameh™ that the festival was

started by King Jamshed to celebrate the advent of spring. That is why
the Parsis refer to it as Jamshedi Navroze.

Preparations for the festival start many days in advance. The Parsis
clean their houses and decorate them with roses and jasmine flowers.
Beautiful designs are made with coloured powder in geometrical
shapes or shapes of fish. birds and stars.

Food is an important part of Parsi festivals. Parsi food is a delicious
blend of West Asian and non-vegetarian Indian cooking. At Navroze
the whole family goes to the nearest fire temple in the morning where
a Jashan — a thanks-giving prayer is offered by the priests. Each
member offers a sandalwood stick to the sacred fire. People are
dressed up in their best clothes. Children are very excited. While
praying. Children wear small round caps of gold and silver brocade.
men wear black velvet caps and women cover their heads with their
saris. After the prayers the Parsis embrace one another and wish sal
Mubarak.

The day is spent in visiting people and exchanging gifis with friends
and relatives. In Parsi homes a silver tray is kept with rose petals.
coconuts, red powder and uncooked rice for the tilak of the guests.
Rose water is sprinkled freely on each guest.

During lunchtime. the family get together to enjoy the specially
prepared meal. Food 1s also served to the less fortunate who cannot
afford to celebrate the festival this way. Children join in giving gifis
of food and clothes to the poor, thus learning early. the family
tradition of helping the poor.

Sub questions

Question Number : 53 Question Id : 973597724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Navroze is celebrated:
Options:



, % asaspring festival.
-~ » tooffer prayers to the Fire god.
2 « as the Parsi New Year.

4 % tosay good bye to winter

Question Number : 54 Question Id : 973597725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Parsis refer to the festival as Jamshedji Navroze

because it was started by:

Options:

, w the Kings. Cyrus and Darius.
> % Jamshedji Tata

- » Jamshedji Rustamyji

4 King Jamshed

Question Number : 55 Question Id : 973597726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Parsis prefer to eat:
Options:
a combination of West Asian and non-vegetarian
1+ Indian food.

- # continental food.

- u Vvegetarian food.

4 % mughlai food.

Question Number : 56 Question Id : 973597727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Parsis visit the fire temple to pray and offer:

Options:
1 « sandalwood sticks

- % incense sticks.

- u food to the priests.

4 % food to the poor.

Question Number : 57 Question Id : 973597728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Below are four jumbled up sentences from the passage.
Tick the option which depicts the sequence of events in chronological order.

Children join in giving gifts of food to the poor.

Food 1s an important part of all Parsi festivals.

Navroze, Parsi New Year festival falls on the 215 of March.
The festival originated in the 6t century BC.

a0 oo

Options:
, % d.a.cb

5 % c.b.ad
5 o G d, b.a

4 % a.c.d.b

Question Id : 973597723 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 973597724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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off &g # T&ar &1 & o)

4 %

Question Number : 54 Question Id : 973597725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

9IET 3c89 I FAASAT 59U Fed g
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Options:

| % T A" AR SRIw
o % SHAUGST TTeT

z ® SHASHAT TEIHAT

4 v TS STAAG

Question Number : 55 Question Id : 973597726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 973597727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1.&-*@@-?’@
gﬁﬂ?ﬁﬁm

. T s
4 % TET FT AT

Question Number : 57 Question Id : 973597728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

grsarer ¥ o v 9w Iy = wRafEa w1 F T2 oav

UTATHT & TEr FH T A I FFeT F1 =I77 FI

a. F=< TET F ST & & FF F Frar o g
b. SIS Wl IRET 3cHaT HI Agca Ul $TET EeT ¢
c. IRET 79 I, AT 21 AR FF AAET FT 2
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Options:
% d, a, c,

i b
- % C b,a d

o Gy by

i1

4 % 8.c¢c.dDb

OUANTITATIVE APTITULDE
Section Id : 973597105
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 973597105
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 973597729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The average of a number and its square is 10 times the number. What is that number?
Options:

1 % 9

> % 15

= % 18

4 o 19

Question Number : 58 Question Id : 973597729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ueh HEAT 3R 38F F97 F AT, T F 10 T §| HEAT FT 82

Options:

1 = 'S
> % 15
z % 18
4 ¢ 19

Question Number : 59 Question Id : 973597730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If a trader sells his stock of apples at Rs. 18.270, then he gains 45%. What is the cost price of stock of apples?

Options:
| « Rs. 12,600

,  Rs.13.000

, » Rs. 12,650
., % Rs. 13.650

Question Number : 59 Question Id : 973597730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TfE T AT HOA WE W FEhw F.O18,270 F ¥ § A IH 45% 9 0 9d BT B EE F =iE
FT AT wET F R

Options:

, v T 12,600
> % ¥. 13,000
. x % 12,650
. % ¥ 13,650

Question Number : 60 Question Id : 973597731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A COTipLber camn pn:l'llmll 60 1denhical tasks m 18 lumes. Al the samne space, e TIETLY COmpniers are :|¢:11J1'11:|cl 1 ]:I-_'Tl'nms
a0 sneh wdentical tasks in 3 hows?



Options:
1 8 3
> % 0
3¢9
4 % 10

Question Number : 60 Question Id : 973597731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
vE FUET 18 UE F 60 e FE FY FHAT §) TH A W, 3w & 90 Hfew w e F B
B FgE 7 AFEEar g

Options:

1 % 3
> # B
3¢ 9
4 % 10

Question Number : 61 Question Id : 973597732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a class of 30 students, there are 17 givls and 13 bowvs, The average age of bovs 15 10 years. If the average sge of whole
class i3 12 vears, then what is the average age of girls?

Options:
| % 12.72 years
5 w 12.92 years

5 % 13.12 years

T, 13.52 years

Question Number : 61 Question Id : 973597732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WEEnfEm S TERw e S e S s o == &
stEe 37 12 a9 &, o sEfear & e 3w e &7

Options:

;% 1272 I
> % 12.92 Iy
s % 13.12 a¥
4 v 1352 Iy

N

Question Number : 62 Question Id : 973597733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Present ages of father and the son are in the ratio of 6 : | respectively. Four vears hence. the ratio of their ages will
biecome 4 ; 1 respectively. What 15 the son’s present age?
Options:
| % 10 years
5 o 6 years
5 % 4 years
4 % Syears

Question Number : 62 Question Id : 973597733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Frar T O #Y THAE WY F NS FE 6 0 1§ IR IE AT, T MY F AT FH 4 T
2R g7 #Fr AR g e 82

Options:

; % 10 99
> v 6T
s % 439
4 % 899

Question Number : 63 Question Id : 973597734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O

If the area of a circle is 2464 m?. find its circumference.
Options:
1 % 288m

>~ % 238m
z % 196m
4 & 176m

Question Number : 63 Question Id : 973597734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I U god H STFA 2464 FoT Hiex &, dF SR IR AT FL

Options:

, % 288 HII
- u 238 AT
- % 196 AII
4 v 176 AT



GEMERAL MENTAL ABILITY AND REASONING

Section Id ; 973597106

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 973597106
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 973597735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If in a code. MIND becomes KGLB and ARGUE becomes YPESC. then what will DTAGRAM be in that code?

Options:

1 « BGYEPYK
> % BGYPYEK
= % GLPEYKDB
4 # LKBGYPK

Question Number : 64 Question Id : 973597735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Ife fFET F18 9T & MIND & KGLB 3T ARGUE & YPESC for@m SIrar g, ar 38T 18 T H
DIAGRAM & a7 @ FTI=T?

Options:

. v BGYEPYK
- » BGYPYEK
- % GLPEYKB
. % LKBGYPK

Question Number : 65 Question Id : 973597736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I the followmg gquestion two words are given, These words ane related to each other m some way, Another word 15 also
miven, Fomd ol the relationship between the first two words and choose the word from the given alternatives, which
bears the same relationship to the third word, as the first Two beas,

Inidia : Wew Delhi o Paldstan : 7
Options:
, % Rawalpindi

> % Peshawar



= % Lahore

4 « Islamabad

Question Number : 65 Question Id : 973597736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FreaaTea 7ed & 2 o By 717 #) 7% o 0 9 § TR @ ¥ TELA #1 vR 3ew aee of R
ST B RS 2 T & A ey 9 e AN BE o Reew # ® 9% o o S O e ¥ oAy
T TEy AT & S 9@ 27 et A F

A 7% Eeer o i ?
Options:

1_&1‘!33!"@@'

> % HRMER

3.333"@\?

4o ERIEINIG

Question Number : 66 Question Id : 973597737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Rakesh goes 30 metres North, then tuns right and walks 40 metres, then again turns right and walles 20 metres, then
azxain mms right and walks 40 metres. How many metres is he from his onginal position?

Options:
1. % 3
> o 10
= % 20
4 % 40

Question Number : 66 Question Id : 973597737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR 30 HieT Iea7 w7 A & T g R geAr & Hiv 40 Hew wear & e ard s agee &
i 20 #ew T9A &, T 7 37 anf A e & A 40 Hiew g9 §1 57 Fe ey g # e
drer #r g 9T E?

Options:

1 % B

>« 10
=z % 20
4 % 40

Question Number : 67 Question Id : 973597738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A. B and C are sisters. D is the brother of E and E is the daughter of B. How is A related to D?



Options:

1 # Sister

- % Cousin
2 % Niece
4 « Aunt

Question Number : 67 Question Id : 973597738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AB3INCTEITZIDEFaASTINE, BHAr 38 81 A D T BFF vor gl &2
Options:

1 % Sgd
2" Eﬁf’f&%ﬂ
5 % SIS
4 v HIEH

Question Number : 68 Question Id : 973597739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If - means —, —means X, ~means +and xmeans — then 15-3+10x5+-5=7
Options:

.

I__;l

I-2

2_-&32

| ]

3&35
4 48

Question Number : 68 Question Id : 973597739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

O + T T - -FT HT x, + T 7T + dw x F7 3997 = & ar
1I5-3+10x5+5=72
Options:

1 % D

- % 22
5. # D2
4 v 48

Question Number : 69 Question Id : 973597740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Find the missing character in the following figure.

31

Options:
;% 190

> % 221
5 o 255
4 % 236

Question Number : 69 Question Id : 973597740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % 190

o % 221

5 & 255

4 % 236
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Question Number : 70 Question Id : 973597741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Dynamite was invented by

Options:
1 % Marie Curie

> % Alexander Fleming

= % Charles Darwin
4 + Alfred Nobel

Question Number : 70 Question Id : 973597741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SITATHTSE & TSR o Trar o
Options:
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Question Number : 71 Question Id : 973597742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
International Literacy Day is observed on which one of the following days every year?

Options:

th
1.#’*3

September
> % 18% March
s % 28% March

4 % 18™ September

Question Number : 71 Question Id : 973597742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g 9Y Faofaa # ¥ Fi9 @ fF dausdy geRar ey 5= e 22
Options:

5 % 18 AN




5 % 28 AT

Question Number : 72 Question Id : 973597743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The financial term *GDP’ stands for:
Options:

1 +« Gross Domestic Product

- % Globally Dominant Person

= % General Domestic Position

4, % Global Depository Product

Question Number : 72 Question Id : 973597743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
el e SENT T 3T &
Options:

| v T AT Ui
. % TolEel ST TS
5 % STt STHTECH Tr=rere
4 % ToEe EOEE 9Eee

Question Number : 73 Question Id : 973597744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following feature film is official nominee for Oscar 2008, from India?

Options:

1 % Rockon

- « Taare Zameen Par
= % Drona

4 % Walu

Question Number : 73 Question Id : 973597744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

HIERT 2008 &, 80T Fr 7 ¥ it aft o7 amAfes ey few Geffle & 1 e o a4

Options:

1 #® TTE‘T S-ﬁT-F

> @ Y FHA W
5 % QO
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Question Number : 74 Question Id : 973597745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first sports person to have honour of “Bharat Ratna™ is:

Options:
, w Milkha Singh

Sunil Gavaskar

®

2.

- % Dara Singh

4 + Sachin Tendulkar

Question Number : 74 Question Id : 973597745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“URT Tod” GFATT Tl 3Tl 98T [@ear &
Options:

, « e e
., gAre TR

s
. » oW1 g

, aE= égc-fﬂn{

Question Number : 75 Question Id : 973597746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The author of book *The Guide’ is:
Options:

1 % R.K.Laxman

- % RK. Singh
5 R K. Narayan
, % Raj Kapoor

Question Number : 75 Question Id : 973597746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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The Centre's reported plan to Set up an asset reconstruction company (ARC) with equity contribution frorm the
government and the Reserve Bank of India (REI is welcome. Owverview of an ARC - An asset reconstruction
COrpAany's primary goal is to manage and make profitable those assets which have been underperforming or
become formally classified as NPA's belonging to those companies who hawve been unable to generate
sufficient timely revenue to service their cutstanding obligations. Extraordinary situations call for
extraordinary responses. In the U5, in the aftermath of the 2008 financial crisis, the Federal Reserve supplied
liquidity to banks and restored the flow of credit. The plan, designed to give banks the incentive to replace
istate) provided capital with private capital or to redeern the (state) capital when conditions permutted, worked
successfully. An ARC would buy out distressed loans from banks, at a discount. Once a non-performing asset
is sold off, it would disappear from the balance-sheet of the selling banlk. This, in turn, would Clean up its
books and enable the bank: to start lending afresh. True, the bank would take a haircut but that is vital o
bring dowr the cost of the project, now taken over by the ARC, to a realistic level. Writing off of the promoter's
equity, converting the banks' debt into equity and bringing the inflated project cost to realistic levels are just
the beginning. Transfer to the ARC would extricate stalled projects from their promoters. To get them
executed, the ARC could rope in professional managers, offering thern chunks of equity when they achieve
preset milestones. The cornpleted project could be sold and the proceeds used to pay off the ARC's financiers
and even kick some more money back to the banks. How should the ARC fund itself. It can issue bonds for the
REI to subscribe. Yes, this would amount to liquidity creation by the REI, on a scale far in excess of the open
market operations it undertakes in the normal course. But let us recall that the basic achievernent of the Fed's
quantitative easing policy, of buying up bonds, was to recapitalise the banks: relieved of the bonds they held,
the banks' requirernent of capital came dowrl. By financing the ARC and enabling it to buy distressed barnk
assets at a discount, the REL would both recapitalise the banks to some extent and also help implerment stalled
projects. This is the time for bold imagination and action. This, in turn, would clean up its books and enable
the bank to start lending afresh. True, the bank would take a haircut but that is vital to bring down the cost of
the project, now taken over by the ARC, to a realistic level.
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